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GENERAL INSTRUCTIONS :

Read the following instructions very carefully and follow them :

This question paper contains 30 questions. All questions are

(i)
compulsory.

(it) .Question paper is divided into five sections — Sections A, B, C, D and
E.

(iii)) Section A - question numbers 1 to 12 are Multiple Choice type
questions. Each question carries 1 mark. '

(iv) Section B - question numbers 13 to 18 are Short Answer type

questions. Each question carries 2 marks. Write answer to each question

in 50 to 60 words.
— question numbers 19 to 23 are Long Answer Type-I

(v) Section C
arries 4 marks. Write answer to each question

questions. Each question ¢

in 100 to 120 words.

(vi) Section D - question numbers 24 to 26 are Passage, Cartoon/Picture

and Map-based questions. Answer each question accordingly.
Section E - question numbers 27 to 30 are Long Answer Type-II
s. Each question carries 6 marks. Write answer to each question

(vii)
question.
in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such
questions has to be attempted. ‘ |

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired

candidates only.

(viii)

(ix)

PO
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SECTION - A

Question Nos. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. Given below are two statements :

‘Statement-I: Nepal was a Hindu ngdom in the past and then a
constitutional monarchy in the modern period for many
years.

Statement-ﬂ_ The strugghng pro-democracy forces achieved their first

' major victory in 2006 when the king was forced to restore
the House of representatives, -

Options :

(A) Both Statement-I and Statement-II are true.

(B) Both Statement-I and Statement-II are false. =
(C) Statement-I is true, but Statement-II is false. -
(D) Statement-I is false, but Statement-II is true.

9. Which of the following events made the South Asian region a sudden focus .
of global attention after the cold war period ? b
4A) Bangladesh War of 1971
(B) Ethnic conflict of Sri Lanka :
India and Pakistan both became nuclear power _ .
(D) Kargil conflict between India and Pakistan

3. .Match the terms given in Column-‘A’ correctly with Column-B’ and choose
the correct answer from the codes given below :
Column-‘A’ Column-‘B’

I. |Human Rights Watch ~|i. |An organ of the United Nations
An agency of the United Nations

II. |International Monetary Fund . |ii

II1. |World Health Organisation ~ |iii.|An international organisation that
oversees financial institutions

IV. |General Assembly iv. |An international NGO
Codes :

(A)  I-di, IT-i, IT-iv, IV-id ®) I-iv, [, IL-iii, IV-ii
©) Liv, ILidi, ILi, IV~ (D) I, I-iv, III-idi, IV-i
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(O
Arrange the following in chronological order of their formation :

I. The World Trade Organisation

II. World Bank

III. The International Atomic Energy Agency

IV. United Nations Organisation

Choose the correct option :

@ 1, IL 1, IV @ ImIv, 1
AC) IV,L1IIL II (™ IH;T, 1T IV

Institutional safeguards to minimize the negative effects of globalization

on those who are economicil]y weak are known as
(B) Social safety nets

(D) Voluntary services 2

(A) Welfare measures

(C) Economic liberalization

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer.

Assertion (A) : The entry and the increased role of multinational

companies all over the world leads to a reduction in the capacity of

governments to take decisions on their own.
Reason (R) : The state continues to discharge its essential functions and
consciously withdraws from certain domains from which it wishes to.

Options :
(A) Both the Assertion (A) and the Reason
Reason (R) is the correct explanation of the Assertion (A).

(R) are correct and the

(B) Both the Assertion (A) and the Reason (R) are correct, but the

Reason (R) is not the correct explanation of the Assertion (A).
(C) The Assertion (A) is incorrect, but the Reason (R) is correct.
(D) The Assertion (A) is correct, but the Reason (R) is incorrect. °
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SECTION -D 3x4=12

94. Read the passage given below and answer the questions that follow :

. 1+1+1+1=4

India adopted a democratic approach to the question of diversity.
Democracy allows the political expressions of regional aspirations and
does not look upon them as anti-national. Besides, democratic politics
allows parties and groups to address the people on the basis of their
regional identity, aspiration and specific regional problems. Thus, iithe
course of democratic politics, regional aspirations get strengthened. At the
same time, democratic politics also means that regional issues and
problems will receive adequate attention and accommodation in the policy

making process.

(24.1) Which period in India is seen as a period of grooming regional
aspirations for autonomy ?

(A) 1960s B) 1970s
(C) 1980s D) 1990s
(24.2)  Which type of diversity is dominant in India ?
(A) Social diversity (B) Political diversity
(C) Cultural diversity (D) Regional diversity

(24.3) How does democracy deal with the regional problems ?
A) Through regular negotiations :
(B) Through strong steps
(C) Through elections
(D) Through economic measures

(24.4) \ Which one of the following joined Indian Union in 1975 ?

~{A) Goa ; (B Sikkim
(C) Puducherry (D) An Island
i ST 1
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95/ In the given Political outline map of India, four states have been marked as
/ (A), (B), (C) and (D). Identify these states on the basis of the information
given below and write their correct names in your answer book along with
the respective serial numbers of the information used and the concerned
alphabets shown in the map as per the format that follows : 1+1+1+1=4

Sr. Number of the Alphabet Name of the
information used concerned States

(i)
(i)
(i)
(iv)
(i) The Princely State whose ruler resisted its merger with India. -
(i) The State that was most affected by the partition of the country. A

(iii) The State carved out from Madhya Pradesh.
(iv) The State that was formed in 1952. &

INDIA

Political
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Note :

(25.1)

(25.2)

(25.3)

(25.4)

26.

Study the given cartoon and answer the questions that follow :

El[E |
E@; 0 |

The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 25. 1+1+1+1=4

Name the Union Territory which earlier was a state.

Name any one state that was most affected by the partition of
the country.

Which state was carved out from Madhya Pradesh ?

Which state was formed in 1952 ?

1+1+1+1=4

(@) What does the cartoon depict ?

(A) Influence of UNO on the World

»/(B) Influence of USA on UNO

(C) Relevance of UNO

(D) Influence of USA on the World
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’,’ (II) What message is given by the cartoon ?
‘ (A) If UN fails then the US can control the world by its military
power.
. (B) Economic superiority of US

(C) Veto power of permanent members of UN

(D) US is the largest contributor to UN
(IIT) Why this cartoon is not relevant today ?

(A) UN has become more powerful. |

(B) Many new powerful international organisations have emerged.

PR T T e D

(C) Countries are not having faith in UN.
(D) Now many new centres of power have emerged.

(IV) What is the primary objective of UNO ?

(A) To foster economic ties of the developed nations
v(/B) To promote international peace and co-operation
(C) To eradicate terrorism

(D) To promote health care

Note: The following questions are for the Visually Impaired
~ Candidates only in lieu of Q. No. 26. 1+1+1+1=4

(26.1) State the reason for the formation of League of Nations.

(26.2) Write full form of UNESCO.

(26.3) How many member countries did sign on United Nations
Charter to set up United Nations ?

(26.4) Name the most visible public figure and the representative .
; head of the United Nations.
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